
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

TB2259-
04 10.01.1 tb213ge II 12-NOV-04

Engines ISM CM570, ISM CM570/870, ISM CM875, ISM CM876, ISM CM876 E, ISM11 CM876 M103, ISM11 CM876 SN, M11
CELECT, M11 CELECT PLUS, M11 MECHANICAL, QSM11 CM570, QSM11 CM876

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  TB2259-04 Turbocharger Arrangement   

     Turbocharger Arrangement

      

1 112408 Plain Washer 1 1/4 in.

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('tb213ge','/rtgraphics/english/parts/tb/2/tb213ge_sm.png');
javascript:swap_img('tb213ge','/rtgraphics/english/parts/tb/2/tb213ge_md.png');
javascript:swap_img('tb213ge','/rtgraphics/english/parts/tb/2/tb213ge_lg.png');


2 3008468 Pipe Plug 1 1/2 NPT.

3 3009330 Plain Washer 4 M10.

4 3028540 Cover Plate 1  

5 3036460 Spring Washer 4  

 3037536 Threaded Plug 5 9/16 - 18 UNF

6       3037537 O-Ring Seal 1  

7 3081346 Hexagon Head Cap Screw 4 M10 x 1.50 x 70.

8 3088162 Hexagon Head Cap Screw 4  

9 3349393 Exhaust Manifold 1  

10 3349395 Exhaust Manifold 1  

11 3406757 Air Intake Manifold 1  

12 3679445 Mounting Spacer 6  

13 3818060 Captive Washer Cap Screw 4 M10 X 1.50 X 25.

14 3818121 Hexagon Flange Head Cap Screw 6 M10 X 1.50 X 100.

15 3818122 Hexagon Flange Head Cap Screw 6 M10 X 1.50 X 130.

 3042619 Coupling Nipple 1  

6       3037537 O-Ring Seal 1  

 16       3042620 Coupling Nipple 1  

 17       3040813 Threaded Plug 1 9/16 - 18 UNF

18 3818846 Connection Gasket 2  

19 3819659 Cover Plate 1  

20 3821847 Captive Washer Cap Screw 14 M10 X 1.50 X 60.

21 3900627 Hexagon Flange Head Cap Screw 1 M6 X 1.00 X 14.

22 4019593 Exhaust Manifold Gasket 6  

23 4070659 Mounting Spacer 6  

  4906763 1  

24       3031511 Pipe Plug 1 1/8 NPT.

25 4920497 Double End Plain Stud 4  

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

